e qder- 2024
AlSST Y% 9T
FETT- 12 vy - TefAfa e it - 80 FHI-3 T
Class - 12 Sub- Political Science Full Marks - 80 Time-3 hours

AAT fo1g9r:-

o UStgirett reniera a1l 9reai 3 IR S

Candidates should answer in their own words as much as possible.

o 218f} voat siforart 3

All questions are compulsory.

o el Ul bl =1 52 3l

Total number of questions is 52.

0 U%T 1 A 30 71D TGIADICURT Ut & | U U6l & AR famcu 6w s1e 31 218l famca w1
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Question No. 01 to 30 are multiple choice questions, each question has four options. Select the correct
option. Each question carries 01 mark.

0 O19%T FXRT 31 A 38 AP el ofE IARI Ueet 31 fSrR1d 21 fpadl 6 ussll oI IR Soll
3iforari 31 Ui Ut I ol 2 i forerif¥a i

Question numbers 31 to 38 are very short answer questions. Out of which it is mandatory to answer any
6 questions. Each question carries 02 marks.

0 U%T FHIRT 39 A 46 AD o I Ul 31 f513131 A fbodt 6 Uil I TR Soll siforard 31
URID U1 I Il 3 3D forerifed 3l

Question numbers 39 to 46 are short answer questions. Out of which it is mandatory to answer any 6
questions. Each question carries 03 marks.

0 U%1 HIRT 47 A 52 S I3 Ut 31 fobodl 4 Uil I IR Soll ifetart 31 U usst
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Question numbers 47 to 52 are long answer questions. It is mandatory to answer any 4 questions. Each

question carries 05 marks.

1. In Which year state re-organization commission was set up in India?
(A) 1951
(B) 1952
(C) 1953
(D) 1954

URA T I TS SN &1 T oo a8 &1 T8 of?
(®) 1951
(T) 1952




() 1953
(d) 1954

2. Which one of these is not a result of Soviet union disintegration?

(A) End of ideological war between America and Soviet Union
(B) Birth of organization of independent states
(C) A change in balance of power

(D) Crisis in Middle East
THH I A 7 grfaad @9 F fFree w1 g 987 82
(F) STHTHT S AITATT T % S TATF F T AT

(@) T TSAT & TYFA 1 STH

(M) orf<h §qad § FEdqa
() AT IF § Hohe

In which of these area's American supremacy can be seen
(A) Military
(B) Economic
(C) Cultural
(D) All of the above
T & T & # SR = o@T S 91 @
(®) &=
) IEIRE
(M) =i
(&) Surh et

4. Niti Aayog replaced which organisation of the Indian government?

5.

(A) Election Commission
(B) Finance Commission
(C) Planning Commission
(D) Human Rights Commission

F TIT o ST LT o ey |91 7 2o foram?
(P) FATT AR
(@) fas s
(M) FTSHAT AR

N
() HIAATIERTE AT

In which year Bangladesh got independence?
(A) 1971
(B) 1965
(C) 1972
(D) 1961

FEATY T8 T AT gatr?

@) 1971




@) 1965
@M 1972

@ 1961

6. What was the objective of the “Bombay plan™?

(A) Government should not interfere in the economic sector

(B) Government should take big steps in the field of industrial and economic
investment.

(C) Government should impose more taxes on industries.
(D) None of the above.

“TTE JISTAT T IZ9T T 9T?

(P) TTHTT T I & | gETeT AT FLAT ATRY

(D) TCHTL HT AE A A [Faer 6 &7 § 98 F79 I3 AT
() IR H AR I ATF F AT AT

(A) UL § F FIE AR,

7. What was the objective of the “First 5 year Plan”™?

(A) to lay stress on agriculture
(B) to lay stress on industries
(C) to lay stress on animal husbandry
(D) to lay stress on fishery
“ T T ATSTAT T SZ9T FAT AT?
(@) F T ZAT
(&) MM 9T S AT
(M) AT I ST AT
(9) T ITA T I AT
8. “Farakka Agreement” was signed between which two countries?

(A) Pakistan and Nepal

(B) Pakistan and Bangladesh
(C) Bharat and Bangladesh
(D) Bangladesh and Bhutan

“RET FHATAT o6 &1 90T o 1= geareiid gai?
(P) OTFHRETT ST 9T
(M) OTfHREaT 3 TRATST
() AT ST TATET
(d) FRATIE AT G2

9. Energy Conservation bill was passed in which year?
(A) 2000
(B) 2001
(C) 2002
(D) 2003
ST @A freren o o ot 6 T 9

(h) 2000

(d) 2001




@T) 2002
(&) 2003

10. Who is known as Frontier Gandhi?
(A)  Mahatma Gandhi
(8) Khan Abdul Gaffar Khan
(©) Bhagat Singh
(D)  Sardar Vallabh Bhai Patel
AT et o a7 & o ST ST 22
() FRTeAT Tieft
(M) @I TegeT TFHRIL G
() +ra foig
() T Foed T TS T2

11. Which countries signed the “Atlantic charter”?
(A) Bharat and Pakistan
(B) Britain and France
(©) America and Britain
(D) Germany and Soviet Union

e 9T F STeeATTesh ATeT I¥ ZEqTere (o2
(P) ATLT AT uTeheary

@) fores e Wi

(M) s o faes

() STHHAT 3 Frfea |9

12. In which year “Panchsheel agreement” was signed?
(A) 1954
(B) 1956
(C) 1958
(D) 1960
“Taefie FH=ATT” 9T o 99 gEares o T 92

@) 1954

(@) 1956
@T) 1958

(&) 1960

13. In context of globalisation what is the meaning of the word “flow”?

(A) Movement of ideas from one part of the world to another part.
(B) Movement of capital from one place to another.
(©) Movement of goods to different countries.
(D) all of the above
FATRTT F T | “TATE” 9Te T AT T B2

(P) Torsa = Us 9T & gL W qF =1l & Ja1e
(T) TF T & EL T qF Yol FHT AT




(M fafes Tort & 71t Y rarsgn
(@) Ik gt

14. Which agreement was signed between India and Pakistan marking the end of war of
19657
(A)  Shimla Agreement
(B) Tashkent Agreement
(©) Panchsheel Agreement
(D) Atlantic Charter

1965 I T TATH TL AT AT ATHEATT & 1= hF GHATT I geared? o a2
() foraeT Fw=aT
(T) AT FHATAT
(M) d=sfier gwetar
(©) seaAites ATeT

15. A Nation frames it's foreign policy keeping in view
(A) National Interest
(B) Foreign Interest
(C) Domestic Interest
(D) Neighbors interest

Fls W g AUHT farger T i eoa § T@se a91aT & -

() g e
(@) fasht BT

(M = fea
(®) "SR A R

16. Why India did not sign the nuclear non-proliferation treaty of 19687
(A) Because India considers it discriminatory
(B) India was not asked to sign it.
(©) India does not like this treaty
(D) None of the above

ATLT « 1968 T TTHTI] THHTT | ¥ FEATEAT FIT ARl (hAT?

(P) FAITH AT T8 AEATALOl HIAAT &
(M) T | TH T EATEL HIA 6 [T qg1 gl TTI
() e 7 =g 6ie wHE T Y
(d) SUh H F FIE TRl

17. Which of these countries adopted the “open door policy”?
(A) China
(B) European Union
(C) Japan
(D) America

TH F o 3o 7 gy g A A sere?
(P) ==




@) ST
CEELE

18. National emergency was declared in which year?
(A) 1976
(B) 1977
(©) 1975
(D) 1974
TP STt fohe a9 =T f36a T a2
(P) 1976
(@) 1977
() 1975
() 1974

19. Special privileges given to the king and emperors by the Indian Government was known as
(A) Privy Purse
(B) pink purse
(©) King's Purse
(D) None of the above
AT ALY ZIT TSAT-HETITSTT3N 7 & ST e Terere fareramiershTet &1 gt Sirar o1
COREELRE]

CC)REIEIRE]
(M) ST FT IH

(9) IUTIH H & FIE Tl

20. In 1962 which country stationed nuclear missiles in Cuba?
(A) America
(B) Soviet Union
(C) Bharat
(D) France
1962 ¥ e Tor F FFgaT ® gy femres dera i
() srafeanT
(9) |rfaaa &=
(N wza
(¥) wiE

21. When was “Simla agreement” signed?

(A) 1st July 1971
(B) 3rd July 1972
(©) 1stJune 1971
(D) 3rd June 1972

“CATAT FHATA” IT o ZEATAL T T 942

(P) 13« 1971
() 3T 1972
(M) 171971




(@) 37 1972

22.  First Non Aligned Conference was held at
(A) Newyork
(B) Moscow
(C) Belgrade
(D) Manchester

TN [ FATTer aFe wgl i R T om?

(P) =AH
(&) #TE=RT
WREEDE
(A) A=

23. BAMCEF stands for
(A) Backward and minority communities employees federation.
(B) Backward and minority communities education federation.
(©) Backward and majority communities employees federation.
(D) None of the above

FTHESE FT AAAS &
(P) TI=ET iR seuaeTs qHaE FHAT] AgrEH|
(@) foesTva s aqa forar g
(M TO=ET Ud agaeds qHa FHATT AgraH|
(A) SUIREH | FHIE TRl

24. Globalisationleads to ...........c..... ... in state's potential.
(A) Increase
(B) Decrease
(C) very high increase
(D) no changes

o107 & 1T T HHAT H gl @ -

(@) Tf=
&) FH
(M) =g stfar i
(@) < qREdT T8t

25. Name the king of Manipur who had signed the instrument of merger into Indian Union
with the Indian government?

(A) Maharaja Harish Chandra
(B) Maharaja Bodhchandra Singh
(©) Raja Jai Singh
(D) Veer Tikendrajeet singh
AU 3 IH ST T ATH FATST IE T TR 6 979 AT 9 § &9 % Tdq1ee 97
EATAT TohTT 912
(P) wETIT EfAR
(@) FewTST arg=s Hy
(M) it g




(@) = fewessita g

26. Which gas present in the Earth's Atmosphere is continuously depleting ?
(A) oxygen
(B) Ozone
(©) Hydrogen
(D) Nitrogen
Tft ¥ ATHE § WNE 4 A T oA F9 A w27
COREIEGINE]
S EEIEIE
(M ez
(%) ATEge

27. Which gas is responsible for global warming?

(A) Carbon - di - Oxide

(B) Methane

(C) Chloro - Fluoro Carbon
(D) All of the above

AT ATHT o ol e 1 3 e g
(P) FE - TT - ATFATES
(&) T
(M)  FAL-FAL FTaA
(¥) IR Gt
28. Nagpur Session of Congress was held in which year?
(A) 1920
(B) 1919
(©) 1921
(D) 1918

FIUE AT AN STErerer foh o s fomam = om?

@) 1920

@) 1919
@M 1921

(@ 1918

29. When was the first International Earth Summit held?
(A) 1992
(8) 1991
(©) 1990
(D) 1993

TEAT AAUST T2 FOaT TFe &l ST (ohaT T T2
1992
1991

1990
1993

3383




30. Which organization was the successor of “League Of Nation™?

(A) UNO

(B) SAARC
(C) ASEAN
(D) SAFTA

ST AT AT FT STALLERTL FI AT HIAST AT?

(®) TuAA
(@)
(M s
('EI)FIT‘TI-?.‘T

Very short Answer type questions: 6x2=12
It g ITAT I
31. What do you understand by cold war ?
fegeyr @ 39 Fa1 FHAFA ¢ 2
32. Who was the first Cheif election commissioner of India?

ART & JIH HEY JATd 3TYF FieT A?

33 How many permanent and non-permanent members are there in the Security Council of the
UNO.?

UNO T HRaTr aivg # fhdst Famlt 3R fohcey IR-Famrl weea g1 &
34. what is the main objective of UNO?

UNO T 7&T 3882 T 2
35. The political system of the Soviet Union is based on whose idea?

afaaa g i Tafas aaedr fFas TR ) mia g
36. Which traditional leader of Tibet took refuge in India in 1959?

fearcT & @let gRURE A1 @ 1959 # HRAT # ROT & ?
37. How many member countries are their in “ASEAN"?

‘AT # fohdel TGET U &
38. ®AF UK & T H “fAfehe” s T 39T a1 FFHAT § ?

What do you understand by the team “syndicate” in context of congress party?

Short Answer type questions: 6x3=18

Y ITAT IF

39. What is the importance of “veto” in United Nation Organization?
TR TP T F “Hrer” FT 7T 7ged 872

40. Briefly discuss the result of Indo - China war of 1962.
1962  ATXA-H A 5 % TIUTH 6l HeIT § F=7 7|

41. Write a short note on Mandal Commission.




HEA SATART 9% UF Hierd feoqoft fore|
42. What were the benefits of reorganizing states on linguistic basis?
T(SAT % AU e § A7 A19 g0 ?
43. What was “operation Infinite Rich”?
“HTRRIA SATh e R Far ar?
44. Since when the era of coalition politics started in India?
AL § TSGT TS T I Fdl 7 TEA A2

45.  Which all countries are members of SAARC?
X H T9T T o HaeT 57

46. ATSTT T & [9gesT & AT U HRoT i =T FY ?

Discuss any one reason for the disintegration of the Soviet Union.

Long Answer type questions: 4x5=20
e ITAT I

47. Elaborately discuss the Non Alignment policy of India?
A At e e [T FF g == 722

48. What was the impact of Soviet Union disintegration on countries like India?

T T % e &7 STed S8 291 9% F97 TATT T2T?

49. Write a note on Indo Srilanka relationship.
T et e U U Are ford)

50. Discuss the era of Congress supremacy in Indian political system.
AT TSI [TToh SAedT H HRIE & T 6 I 1 F=1 Hi|

51. Discuss the challenges that arose before India in the wake of independence.
FAAAAT % ATE AL % THE ITH g FATqAT I F4T L

52, AT o Tohel a9 “FATT TIeraTe” I gearers ha? Sa a9 #5 o+ faenraefier 29 &
“FTET TIErHT” T ATeAATH F F1 G &¥ T2 3 2

In which year India signed the “Kyoto protocol” ? why have India and many other
deveioping countries been exempted from the obligations of the “Kyoto protocol” ?




Class — 12 Political Science
Answer Sheet
Objective Question

© © N o g s~ N PRF

e R e T
a b w0 DN P O

Q T 92 9 6 o o 0 9 T ¥ O a a o

16.
17.
18.
19.
20.
21.
22.
23.
24,
25.
26.
27.
28.
29.
30.

®» 9 9 o T T o 9 O T T 9 O 9 o




